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According to whom; like- X927 57m297w 95 7019R 72K7 R2IpY 9270 INRD
V''%, who maintains being captured is considered as if it is at rest

Overview

X9 27 is establishing the Xn*>73, which states that if one stole an animal and sold it
on naw that he is Mwd (from 'M '7), in a case where the buyer of the animal told the
thief, ‘throw the animal which you stole (from the 2277 nw7) into my courtyard
(7ra mwn) and my courtyard will acquire it’. In this case the naw 21 (for 70137)
and the 7213 2117 (for "M '7) happen simultaneously, therefore the thief is exempt from
paying 'm "7, on account of 7°1°» 72772 7°% op. The X3 comments that this can only
be valid according to ¥"3 who maintains 7 AnNaw 20 7vI17p, therefore as soon as
the animal entered the airspace of the 7xn (it flew over the wall) there is both the
naw avrm, for (according to ¥"7) it is considered as if it is resting in the >"717 (since
MT ANNAY M 709P), so there is the Naw 211, and simultaneously there is the 210
721 since the buyer is 77 the animal.!

mooin asks:
= DAY PIPY 295N 198N DMIND NVNT 19 903 NAYPY Y297 9NN ON)

And if you will say, even according to ¥''9 the 72°13 21mM naw 21n are not
simultaneous, for as soon as it enters the airspace of his 9217 (higher and above the

surrounding walls) the thief is 29917 regarding the naw Mo -
- 3MYNNN PINY SVNT 1Y PIND 537 XY 1937 1P 29999 19 N9Y PNSN MYIT

Since the rule is that a 3719 extends upwards until the sky, however regarding
acquisition of the item by the buyer, he does not acquire it until the item reaches
within the airspace of the walls surrounding the 2% —

maoIn proves his point:

"' However, according to the 1327, the 72°13 210 (which is effected by the 721 1°37) happens as soon as it is in the airspace
of the "%, however the naw 2vn is only after it lands on the ground of the 7¥n. Therefore,- since they are not
simultaneous there is no ruling of n"2%p
2 The entire airspace above a >"77 (even higher than the surrounding walls) is considered a >"7n. [If there is a narrow
pole in a *"717, which extends above the walls of the *"117, and someone threw an item from the 2"77 and it landed on
top of the pole he is 21 (even according to the 1327), since ¥°p12 v 72w *"71.] Therefore according to ¥"1, who
maintains 121 77017p, he will be liable for nawa 70157, as soon as the item is in the airspace of the 2.
3 93n PIp is effective only if the item is ‘safe’ within the 7xn. That occurs only after the item is within the walls,
however when it is higher than the walls it is not “nnwn (safe). Therefore the naw 21’1 precedes the 712°12 211 and they
are not simultaneous, so there is no »"2%p. [It is evident from NN question that even if the naw 2vn precedes the
72°13 211 (so there is already a n°n 211), nevertheless there is no n"2%p unless they are simultaneous.]
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= 1VNIYN NN NHYNYN NIN 22D (owvix,0y 97 PIRNA PV NIINTS
As it is evident in ¥ N201 in P97 P79 regarding the case where the husband is

standing higher than his wife, on a roof, and she is below on the ground in a courtyard,

and the husband threw the vx downwards to his wife; the rule is that -
— 509N DY MOTIY MNNNND MNNY 1N AT 2PN NYNN NN MY YW 11%5

As soon as it left the domain of the roof (it is no longer in the airspace of the roof,
but rather it entered the airspace of the adjacent 7x1), she is divorced, and 777 "
X1 R established that this ruling is valid only in a case where for instance the
lower walls (of the 1x17) extended above the higher walls of the roof.°

N190IN answers:
- 98NN NYNM S K9 PIN 797 IN NN 797 I8NY PITY 399N NXINT Y Y

And one can say that here we are discussing a case where he threw the stolen
animal into the 921 through the door or through a window, but he did not throw

it above the walls of the 937, therefore the naw 21°n and 712°13 21 are simultaneous’ (if we
maintains 21 709P) -

mooin asks:
= IRPY 229 VPI NI 29 VP PVIHIT NIV NN ININN ON)

And if you will say; why is there this difference that in ©s» n>o» he mentions
29, and here he mentions »''1 —

nBoIN answers:
= 9PN PRY I8N DNDA MNT DIV NIYPY 229 VP XOINT 91219 W

And one can say that here in our X7 he only mentions ¥'9, since we are

discussing a ‘regular’ 2xn, which is not covered, but open to the sky, therefore he cannot
mention °27 -

4 She is divorced even if the v3 is burnt or destroyed before it reaches her hand. The 7¥n acquired the v3 on her behalf.
5 In this case as soon as it left that airspace of the roof, the v3 was completely encircled by the walls of the =xn.
However if this were not the case, she would not be considered divorced until the vx was within the walls of the 2.
6 We see that the P17 is not effective until it is within the walls, so how can we apply n"1%p in our case of 72°13, since
the 11p happens after the naw 21m.
7 As soon as it entered the 7%n it was within the airspace of the walls of the 73n, therefore it a nannwna 7% and the
buyer acquires it (which makes it a 72°13 21°11), and simultaneously there is the naw 21 if we maintains 121 70Y9p like
y".
8 539 maintains that if one throws an object from one 2"711 to another and in between it passes a "7 he is 21 (for both
101377 and nR¥I7). This is similar to the ruling of ¥"1 and is based on the same principle of »7 anNAW "1 TP,
% The X3 in T3 asked that the answer of Moy v MoTY MINANT MX N7 (see footnote # 5) is seemingly valid only
according to °17 who maintains 70177 (see footnote # 8), but does not mention ¥"9; while in our X3 when we discuss
7uPp we only mention ¥", but not °27; why is there this discrepancy, since seemingly they both maintain 121 7019p.
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= 1099991 NN MY XOR NONIT NNNNY 390 NIV 9N KD *297

Since 927 rules X7 77337R %2 WP, only by a covered >''77 -
= NMIT NOD1IT INND RN’2 MINT (0w x,n9n NAY WA 1999INT

As the X nx states in the beginning of naw n>on, for °27 maintains the house

(which is covered by a roof) is considered as if it is full of substance, so it is considered
as if the item passing through is landing on this ‘substance’. Therefore our case which is not a 2xn

nMpn, there will be no 717P according to *27 (only according to ¥") -
- 299991 PRY 10390 MY 19N N9 N XIPY 9 AN

However ¥''9 maintains 70127 even by a 2''719, which is not covered, therefore in

our X3 where we are discussing an open air 71X he mentions ¥"9, but not *27 -
= Bmaiy mnnnnn mOnnw NNPINT DIVN 239 VP PV

However in 133 noon he mentions 29, since the X 1) established that case where

the lower nxonn of the 7xn extended above the mx rn of the roof -
- £%290 NIV 113 Y95 MMM XY IPAN NY1TT VPNIY S8 KY NAYPY Y2994

So the X713 could not mention ¥''9, since according to ¥'", even if there are no

mxonn at all, like a 9'"79 -
- Bpyaw WA NIRRT INNDY M 1Y SN

¥"3 will maintains "»7 7R37W 915 709P, as the X3 states in the beginning of n>on
naw —

nooIn responds to an anticipated difficulty: '’
- NIT NOYIT NS 1NN 16519 KD MLINN 1PN 52954 PNYT NPYD)

And the X713 initially assumed that we say "»7 X°>%7 82> Xn°2 even if it is not
covered, as long as there are mxsn» -

19 The ruling of 27 was where one threw an object from a 7"711 to a 7" by way of a >"71 (see 2,7 naw). The X3
therefore interpreted this to mean that according to 27 we consider the item at rest in the >"717, only if it is covered.
11'y"y made his ruling of 7uY2p where it was thrown from a >"717 to a >"71 by way of a 7", See 8,7 naw.
12 A covered 1"711 is not considered a 7"771 See X,1¥ NAW.
13 See (text by) footnote # 5.
14 See footnote # 11. Why is there a need to mention (according to ¥"9) that the MNAANT MY MM are MXTAT 5V MOTW
moyn, when according to ¥ all that we need (to say 7v17p) is the airspace above; no n°nn» are necessary. See
‘Thinking it over’.
15 How can the X3 there (in 1v°3) state that this ruling is only valid according to *37, who maintains 7v19p, but 27
maintains 7%p only by a covered *"iin (see footnote # 10), so how can his ruling apply to the case of 1) where it
was an open air Jxn?!
16 The reason *17 stated his ruling in a case where he threw >"77 777 7"77% 7" was not because a *"717 is covered,
but rather because a *"'117 has n1¥nn (as opposed to a 71"7717). And if the object is within the mx°n» we also consider it
n7 X217 1¥1. This is all only in the XX M7 of the X3 there, according to the R3pon, the ruling of 27 is only by a
PR .
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mooin offers an alternate explanation:
$IPN I8N 299N 2299 NPIND SPAT INNIY ) IN

Or you may also say that according to this, when the X713 attempted to establish
the ruling in w3 like %29 (of 71%p2) we will need to say that we are discussing a
covered 7.

Summary
The case here is where he threw it into the 7% through the door, otherwise (if he

threw it over the wall) the naw 21’1 would come before the 72213 21°17. According to
°27 we say 1u1?p only by a covered °"'nM.

Thinking it over

NN writes the reason the X3 does not mention ¥'"1 in W) '0n, is because since
the X nx established the case there where mivova By Moy MNNANT NX°nn, and
according to v"1 we say nv179p even without mxonn.!” However mooin stated
previously'® that regarding a 7ip, even ¥"1 agrees that it is only 7117 if the item is
within the mx°m» (it is only regarding naw that we say n1%p even above the mx°nn),
so how can moon write regarding 1Pw°x where we are discussing the Va7 1P that
according to ¥"1 we would say 7n%p even without mxonn?!?

17 See footnote # 13.
18 See footnote # 3.
19 See 0"vmm and (TR X"wIA.
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